% D

CERTIFIED PUBLIC ACCOUNTANT
INTERMEDIATE LEVEL EXAMINATIONS

11.1: MANAGERIAL FINANCE

DATE: THURSDAY 28, NOVEMBER 2024

INSTRUCTIONS:

1. Time Allowed: 3 hours 15 minutes (15 minutes reading
and 3 hours writing).

2. This examination has two sections: A & B.

3. Section A has three Compulsory Questions while B has
three questions of which two Should be attempted.

4. In summary attempt five questions.

5. Marks allocated to each question are shown at the end of
the question.

6. Show all your workings where necessary
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SECTION A

QUESTION ONE

a) NYAMIRAMBO Motors Repairs Ltd (NMR) is evaluating an investment plan to be
undertaken during this financial year from 1% July 2024. The project manager has estimated
that it will cost the company FRW 300 million and will have 5Syears life span. The following
table shows after tax cash flows:

Years 1 2 3 4 5
Cash flows FRW millions 85 90 95 100 95
The company's cost of capital is 12%

Required:
Calculate the modified internal rate of return (5 Marks)

b) MUHANGA Limited is a company located in Southern Province manufacturing animal
feeds for local consumption; the company is planning to have machine replacement so that it
increases its efficiency and reduces the cost of operation. The company’s cost of capital is
10%, paying taxes at the corporate rate of 30% and requires capital of FRW 100 million to
undertake the replacement of its assets.

Required:

Explain the five effects of taxation on investment decision (5 Marks)

c) JALI Manufactures Limited (JML) has a number of investment projects in Huye District.
The company has been faced with an increase in price of commodities due to financial
distress currently faced by companies across the world. During the last five years, there has
been an increase in price of raw materials and labour cost at the rate of 4% and 3% per year
respectively. The general price increase is 5%. Currently, the company is paying FRW 120
million and FRW 60 million for raw materials and labour respectively, which are expected to
increase in a years’ time at the same rate for 5 years. The company’s cost of capital is 10%.

Required:
i) Calculate the nominal cash flows that will be paid for the next 5 years. (5 Marks)
i) Calculate the nominal (money) discounting rate. (2 Marks)

iii) State three rules that are used when the inflation rate is uniform during
computation of the nominal cash flow. (3 Marks)
(Total: 20 Marks)
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QUESTION TWO

a) Rwanda Coffee Farmers Company Ltd is a listed company in Rwanda that deals in
coffee products. It supplies coffee to different supermarkets and retail locations both
domestically and internationally. The company has been operating in the last five years with
more than 500 stores across East Africa. Due to recent changes in business environment,
Rwanda's standing in the World Bank Doing Business report has significantly improved.

Extracts from the most recent financial statements of Rwanda Coffee Farmers Company Ltd

are provided below:

Statements of Financial Position as at 315t December 2023

Non-current assets

FRW?” Millions

FRW?” Millions

Freehold property 1,000
Plant and Machinery 500
Goodwill 600
Investments 500
Current Assets

Trade Receivables 500

Inventories 400

Cash and Cash Equivalents 200 1,100
Total assets 3,700
Equity and liabilities

Share Capital (nominal FRW 2 per share) 1,000
Retained Earnings 980
Non-current liabilities

12%Long Term Debt 1,000
Current Liabilities

Trade and Other Payables 600

Bank Loans and Overdrafts 120 720
Total Equity & Liabilities 3,700
Required:

Calculate three working capital ratios and interpret them. (3 Marks)
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b) Rwanda Manufacturing Limited (RML) specialises in the production of construction
materials for both export and domestic markets. Although the company has shown favourable
growth in recent years, challenges arose starting in 2020 due to the impact of the Covid-19
pandemic. The pandemic affected demand as construction activities were halted during
lockdowns, leading to liquidity issues within the company. As the newly hired Finance
Assistant, your main task is to assess the company's working capital management for
management's strategic enhancements. The information provided for evaluation purposes are

as follows:

Statement of Profit or Loss for the year ended 315 December 2023

2023 2022
FRW “Million” FRW “Million”
Revenue/turnover 85,000 70,000
Cost of production (30,000) (20,000)
Gross Profit 55,000 50,000
Administration cost (15,500) (15,000)
Selling and distribution (4,500) (12,000)
Finance cost (2,000) (2,000)
Profit before tax 33,000 21,000
Tax @ 30% 9,900 (6,300)
Profit after tax 23,100 14,700
Statement of Financial position as at 31t December 2023
2023 2022
FRW “Million” FRW “Million”
Non-current assets
Freehold property 43,000 34,000
Current assets
Inventory 30,000 26,000
Account receivables 32,860 36,800
Cash 25,240 27,700
Total assets 131,100 124,500
Equity & Liabilities
Ordinary share capital FRW 700 per share 50,000 50,000
Retained earnings 19,400 18,000

Non-current Liabilities
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2023 2022

FRW “Million” FRW “Million”

10% Debentures 20,000 20,000
Current Liabilities

Trade Payables 36,000 32,000

Accrued expenses 5,700 4,500

Total Equity & Liabilities 131,100 124,500

Additional information:

1. It is the company’s policy to value its raw materials, work in progress and finished goods

using the cost of production.
2. Working days are 365

3. Accrued expenses relates to unpaid administration cost

4. Inventory balances are:

Details 2023 2022
FRW “Million” FRW “Million”

Raw materials 10,000 5,000

Work in progress 4,000 10,000

Finished goods 16,000 11,000

Required:

Determine the company’s working capital cycle for the year 2023 (12 Marks)

c) Rwanda Tea Ltd is evaluating the option of investing in one of the two investment
portfolios available in Rwanda. The company wants to minimize the risk associated with
having undiversified business operations, especially after experiencing significant financial
losses during market and economic hardships. The management is looking into potential
investment opportunities to achieve diversification. They have opinion that the return on each
individual investment portfolio is not connected to the return on any other investment. The
estimated return on the market portfolio is 15%, and the risk-free rate of return is 5% and the
market beta factor of 1.00. Details of the amount invested, expected return, standard
deviation, and betas for each portfolio are provided below.
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Portfolio A Amount invested | Expected return | Total risk | Beta
East Africa Investments Ltd FRW 50 million 20% 011| 15
Venture Stage Investors FRW 50 million 16% 0.09| 0.8
Portfolio B Amount invested | Expected return | Total risk | Beta
Satori VVenture FRW 50 million 22% 012 | 1.22
Africanus Investments Ltd FRW 50 million 28% 0.16 | 1.44

Required:

Estimate the required rate of return of the two portfolios using the Capital Asset
Pricing Model, and advise the management on which portfolio should be selected.
(5 Marks)

d) The capital pricing asset model has been criticized due to its unrealistic assumptions.
Steven Ross developed arbitrage pricing theory (APT) to help investors when dealing with
portfolio theory.

Required:
Explain two advantages and three disadvantages of the APT model.

(5 Marks)
(Total: 25 Marks)

QUESTION THREE

Great Lake Energy Ltd (GLE) is a company located in Musanze District. The company was
founded in 2021 and specializes in the production of household goods. At this point, GLE's
owners are curious about the value of their shareholding. They have hired you to use several
methods of valuation to ascertain the company's value. The following information is provided
below:

Statement of Financial Position as at 315t December 2023

Non-Current Assets FRW “Million” FRW “Million”
Freehold Land and Buildings 185
Plant and Machinery 63
IT equipment 40
Goodwill 71
Current Assets

Inventories 420

Trade Receivables 120

Other Receivables 80
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FRW “Million” . FRW “Million”
Cash in hand and at bank 200 820
Total assets 1,179
Equity and liabilities
Equity and reserves
Ordinary Share Capital (FRW 200 per share) 500
Retained Earnings 430
Non-current liabilities
12% debentures 120
Current liabilities
Trade and Other Payables 90
Bank Overdrafts 39 129
Total equity and liabilities 1,179

There has been no interim dividend paid, and the dividends paid during the previous three
years have remained at FRW 50 million annually. The value of the goodwill is decided by
GLE Ltd.'s Directors based on their evaluation of the company's reputation and brand.

Additional Information related to the financial year 2024:

1) A receivable balance of FRW 24 million is included in trade receivables must be written

off because the customer has entered liquidation.

2) An independent valuer was hired to value non-current assets and ascertain the following

market values:

- Plant and Machinery was valued at FRW 58 million.
- Freehold Land and Buildings was valued at FRW 201 million.

3) The business pays taxes at 30% rate.

4) The company’s goodwill increased to FRW 120 million, according to the management

assessment of the company’s brand name.

5) It was decided to employ asset-based models and the average P/E ratio for valuation

reasons.
6) The company's P/E ratio was 6.4
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A review of the previous year’s Statement of profit or loss and Comprehensive Income
reveals the following:

2023 “FRW?” 2022 “FRW” 2021 “FRW”
Operating profits 400,000,000 380,000,000 220,000,000
Profits before taxes 300,000,000 230,000,000 170,000,000
Profit after taxes 210,000,000 101,000,000 119,000,000
Dividend paid 50,000,000 50,000,000 50,000,000

Industry profits are expected to grow at a compounded annual rate of 5% according to
independent research. The Directors of GLE Ltd expect profits to increase by 20% per annum
in the next year.

Required:

a) Calculate the value of the company using earnings model. (4 Marks)
b) Determine the value of GLE using asset-based model. (5 Marks)
c) Discuss the dividend irrelevant theory and company valuation (MM Theory)

(6 Marks)
(Total: 15 Marks)
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SECTIONB

QUESTION FOUR

a) Define the term corporate social responsibility and give three arguments favouring
corporate social responsibility to the company. (4 Marks)

b) Prime Economic Ltd (PEL) is a venture capital company with its head office in Kigali
City. As a small and start-up company, its executive management are evaluating the
investment potential. The existing capital structure of Prime Economic Ltd (PEL) is given as
follows:

S/IN  Details Amount (FRW "000™)
1 Ordinary share capital (FRW 100 par value) 47,000
2 General reserves 12,000
3  12% Debentures (FRW 100 par value) 26,000
4 10% preference share capital (FRW 20 par value) 15,000
Total 100,000

The following additional information is available:

1. Ordinary share capital is currently selling at FRW 85 each

2. 12% Debentures are being sold at FRW 92 each

3. 10% preference shares are at FRW 35 each.

4. PEL most recently paid dividend was FRW 14 per share and is expected to grow at the
rate of 10%.

5. The corporate income tax rate is 30%.

Required:

i) Define the term “Venture Capital” (2 Marks)
i) Calculate the cost of capital for each component in the capital structure. (6 Marks)

c) Kagano Musha Investment Ltd is a company 100% financed by equity while Kaneza
Investment Trust Ltd is a company which is financed by debt valued at FRW 10,000,000 at
interest rate of 12%. Both companies during the financial year ended 31 December 2023 had
Earnings Before Interest and Tax (EBIT) amounting to FRW 110,000,000 and all companies
are in the same class of business risk with the cost of capital of 10%.

Required:

i) As a CPA student, you are requested to compute the value of each firm and comment
on the result obtained (3 Marks)

i) Give two assumptions of Modigliani-Miller hypothesis (MM). (2 Marks)

11.1 Page 9 of 16




d) Market value of the firm depends on the business risk of the firm and is independent of
the financial mix. List three assumptions of the Net Operating Income approach to
capital structure. (3 Marks)

(Total: 20 Marks)

QUESTION FIVE

a) Alpha Limited is a company operating in Kivu district dealing with motor vehicle
assembly and other motor vehicle spare parts. The Managing Director of the company during
the Annual General Meeting suggested that the current procurement policy of procuring stock
in advance is no longer profitable to the company which according to him (Managing
Director) the company is paying for a cost that can be avoided. Currently, the company has
been using economic order quantity model of inventory management which the procurement
manager is confident that it is the best policy. The Finance Manager has differed with his
counterpart and according to him Just In Time model should be adopted.

Required:

Explain five advantages that Alpha Limited would enjoy if they adopt just-in-time
model. (5 Marks)

b) Phonex Limited is planning to change its current stock management policy. The
management currently orders 200,000 units of electrical appliances when their reorder level
hits 70,000 units. The company’s forecasted annual usage of stock is valued at FRW 1,250
million. The cost of placing an order is FRW 500 and the carrying cost of 10% of the
purchase price. The purchase price is FRW 1,000. The company’s lead time is 14 days and
the operation of the firm is evenly for 52 weeks a year.

Required:
i) Determine the optimal stock level (3 Marks)
i) Calculate the relevant cost (2 Marks)

c) Bokasa Limited operates in the Northern Province dealing in merchandised products and
has been concerned with the current operation of the business. The Finance Manager has
requested his Accountant to examine the financial data of the business because he feels that
they are overtrading and has provided the following comparative financial statements of the
company.
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Bokasa Limited statement of financial position as at 315t December

2023 “FRW” 2022 “FRW”
Noncurrent asset 154,000 140,000
Inventory 112,000 80,000
Account receivable 56,000 40,000
Cash in hand 15,000 12,000
Total assets 337,000 272,000
Equity and liabilities
Equity
Ordinary shares capital 97,000 97,000
Retain profits 11,660 9,520
Long term liabilities
10% bank loan 9,840 19,840
Current liabilities
Account payable 186,340 125,480
Taxation 8,000 6,000
Bank overdraft 24,160 14,160
Total equity and liabilities 337,000 272,000

Bokasa Limited comparative income statement for the year ended 31% December

2023 “FRW” 2022 “FRW”

Sales 500,000 400,000
Cost of sales 375,000 300,000
Gross profit 125,000 100,000
Operating cost 50,000 40,000
Operating profit 75,000 60,000
Loan interest 984 1,984
Corporate tax 7,026 5,734
Profit after tax 66,990 52,282
Dividend paid 55,330 42,762

The firm operates 360 days a year.

Required:

Compute the following ratios:

i) Current ratio (2 Marks)

i) Quick ratio (2 Mark)

iii) Debtors’ collection period in days (1 Mark)

iv) Inventory days (1 Mark)

V) Asset turnover ratio (2 Marks)
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vi) Comment if the company is overtrading basing on liquidity ratio, turnover ratio
and efficiency ratio computed above. (3 Marks)
(Total: 20 Marks)

QUESTION SIX

a) Rwandoha Foundation was established by high-net-worth family of Rwandoha with the
mission of investing in different profit-making projects while also keeping 30% of total fund
held in its philanthropic sub-fund. The Investment Manager of the foundation has identified a
potential project of producing cement from volcanic rocks in the northern province of
Rwanda. However, the local authority has strongly required investment manager to consider
all issues around Environmental, Social and Governance (ESG) to avoid negative
externalities to surrounding population.

Required:
Advise the Investment Manager on four factors to consider related to ESG in whole

planning and implementation of the project. (8 Marks)

b) Identify four key stakeholders and key interests each will have in business that
Rwandoha Foundation is considering. (8 Marks)

c) Identify and explain one unethical behavior that the Chief Executive Officer can
have and that of Human Resource Manager in an organization (4 Marks)

(Total: 20 Marks)
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